@ (-5.3) + (-1.8) = -7.1

+5.5
@ (

@ (4+3.4) + (+2.1)

£ -
9/ 9

)+ (s

1
3

@(+1.8) +(-2.1) = +0.3

‘ ® (+1.8) + (-2.1) = -0.3




_Jem
)
)

{(=3)+(=D}+{(+2)+(+4)

(=4)+(+6)

(=3)+(-1)+(+2)+(+4)
=49

(=3)—(=4)+(+2)—(+1)
(=3)+(+4)+(+2)+(-1)

=
T
N
B )
aﬂm/
ROROROROR i
BOm B R R ‘o
wow O R %%M
HoH oW T o &
2 2L oo wl_ﬂ(,
I~ o~ e~ o~ wm41_
FOE R OE OE W
IR o T H o
How oW oW M W I @




@)-10 ©-1 @-12 @®-13 ©-14

(=9) + (-4) = (-3) = {(-9) + (-4)} + (+3)

(-13) + (+3) = -10




4. O3 AN F 82 A2
1\° 1 .
D(-) =5 @ -2 =-10
® (-3)*x3=-18 @ (-1)*x10% = 300
1
® (=5)?x = =-5
5
@-2° = -32
®9x3=27
@ 1 x 1000 = 1000
1
2 —_ =
® 25 x s 5







® (-5.6) - (-4.7) = -1.1

7) - (+8.5) = —6.8
)= (+8.5) = -0.9







= oA Al Joll E<l |l 9] go] B
Fex e o, @ €92 &7

® 10 @6 ® -2
@ -6 ® -10

i
S
5@
B

Al o] = ol o] g2
(=3)+ 0+ (-4) + 5= -2 °|t}.
© & 7™
5+7+(-4)+0=-2
8+O=-2°B2 ©=-10
Q< st

(-3) + Q@+ 5+ (-10) = -2
(-8)+@=-2°]2=%
L@=6




o AL ol-gato] thg 418 ALkstE?

Eis
2
o

1.97 x (=17) 4 1.03 x (-17)

@_51 @ -34 ® -17 @ -14 6 -3

B

1.97 x (-17) + 1.03 x (~17)
= (1.97 + 1.03) x (~17)
=3 x (-17)

=51







11, TF2 TelA A Ble] 9l o] €] o] BF PrS sh 6, 002
oA AT A2

@@:—2,@:6 @ @:2,0:6 ® @:-2,0:0
@ @:-50:3 ® @:5,0:3

6+0+5+(-8)=30°]2=2
6+D+(-7)+6=30=-2




o], b o] Aeigto] g A uf, a—b © gk 2ol 713

2% 2 2 38 4
o5 @5 o9 ox @f
53 77
= — —_— = = —_ of| A&
a=g,-g,b=g, -3l
a—bPJ%}{%‘ﬂ%}—i%l—oa=§,b=—§°'ﬂﬂ013§




13.

Lol o8 214 o & woF she] gRete] oA ey

of HAtt. vEA ALt AS A1=w?

3 2 6 5

-1 = - —— ——

@ @ 5 ©) 2 @ . © 5
S _ .3 ,__3_ 5 -6-25_ 3 3
6 S 157 7 15 6 30 307 30

HEA A4S 2=
1 31 6-31 25 5

5 30 30 30 6




14. the F SukEA AR 227 (& 27)
o1~ 1 3 1 = = = B
@) Lﬂ ‘I'r‘a”l‘ -5 —5 s 5 , =3 TOHH /"]i qt }‘ﬂ T= t:lO]'
B TN Y e 4 e 1ol
@ - Hrham S Ee A YAt -1, -2,-3,0,1,2,3
ofet,
® 24 914 =6 91 A4 2 el @ 7k Qe He 0
olet.
@) @aigtol 5 B 2n S A A B Q2% g
B4E1,2,3, 40/
L 1236 15 o e P
© A %=, 5,2 € ol 2] BelolE A4t she
140
A7} ofd el FoA 1 e SE 2 ol

~&B

o N 17
© A48 Bt RS W AT 24 (3)x (1) x 2 =1
7 3 21 7 21
s 5 Con(D)a(4) =2 1 (2)-
]'o = T ( 3))( 3 X 5 5 5 5
Ly
2
@-1,0, 1 o|tt,
® -6 74 91 Ao] & 7Lod) 9 AL _1 o]
® ERE=12 .36 ,15 9 Hofzok4el 3,
BA 7 5 4 9 HAFuj4ol 140 o] B % olct.




15.

© WESe y, g, 2 B upEA JAT

(@)2, 2,1

243 1
E/\]_:
o 01 "
y+ 1
Z+3—4
AL9
1,2 3 @ 21,3
@ 2,1, 2 ® 3,2, 1
243 35 1
—:2 _— = _— —
04 2t1a =2 108 - T2
35
104 34 1
—:2 _ = = =
55 2t =itgy i y=2
34
R
347" "34 %7




